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The following sentences are about “gemelos.”  That is the Spanish word for “twins.”  These twins are exactly alike, except one is a girl and the other is a boy.  Change the adjective in italics to the correct form so that it agrees with the second twin. Ex: Juan es alto y Juanita es _______. (alta)                                                        
1. Mario es guapo y María es _________________________.

2. Josefa es alta y José es _____________________________.

3. Ana es buena y Arturo es ___________________________.

4. Ramón es bajo y Raquel es _______________________.

5. Pedro es inteligente y Perica es ________________________.

6. Paloma es bonita y Paco es ____________________________.

7. Guadalupe es delgada y Jorge es ________________________.

8. Fernando es rubio y Francisca es ________________________.

9. Anita es simpática y Amparo es _______________________.

10. Teresa es morena y Tomás es ____________________________.
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